ST-18 RRB CLERK (PRE) 2020

Passage for Question 1, 3, 4, 16, 18 (ST-1SRRBCLERKPRE(1-5R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

Eight friends A, B, C, D, E, Z, X and Y are sitting around a circle facing the center, but not necessarily in the same order.
D is not an immediate neighbour of A and E. X is sitting opposite to A. Z is sitting second to the right of A and third to the left of E. C is not an immediate neighbour
of A and Z. B is not an immediate neighbour of E and Z.

hi Passage

et TTaFTd F 1 amgdF AsqgT AT 27 73 75701 F sTA™T

Az A A, B, C, D, E, Z, X 3T Y UF g % AT 3T &k ol a0F @ T 95 8 ATohed ST Al 1% 6T 77 Hl
D, A 31T E FT fAdead 92T 751 81 X, A F fa9d1d 927 81 Z, A ¥ 70 THT 31< E % aT0 4T 927 81 C, A 3% Z &7 Aeaw 92t 78l g1 B,E 3T Z
F1 Feead T2t 981 8l

Q-1 Who is sitting in front of E, if E interchanges his place to B?

eng
01. 7 02. B
03. X 04. Y
05. D
Q-1 T2 E, B & ST9AT I 98 oIdT & a1 E & J19 14 93T 872
hi
01. 7 02. B
03. X 04. Y
05. D
Solution for Question 1
eng ' C
B =
A X
.4 D
- C
B E
A X
. D
Z
Q-2 What should come in the place of question mark (?) in the following number series problems?
eng

45 46 70 141 ? 1061.5

01. 2435 02. 353.5
03. 280.5 04. 276.5
05. None of these
Q-2 Referfad wem Jaer aaearst § wrar=e =g (7) F &0 9 F#47 47 ATg0?

45 46 70 141 ? 1061.5



01. 2435 02. 3535
03. 280.5 04. 276.5
05. =7/ FFIE Tor

Solution for Question 2

eng

Q-3

eng

Q-3
hi

45 x 1+ 1 = 46,

70 x2+1 =141,
2% 3+1=1061.5
9=3535

45 x 1+ 1 = 46,
70 x2+1 =141,
2% 3+1=1061.5
9=3535

Who is sitting third to the right of A?

01. 7 02. D
03. B 04. Y
05. C

A F T ATET AT 57 22

01. 7 02. D
03. B 04. Y
05. C

Solution for Question 3

eng

eng

C
B =
A X
XY D
Z
B E
A X
Y D
Z

Four of the following five are alike in a certain way based on their positions in the given arrangement and so form a group. Which is the one that does not
belong to the group?

01. AZ 02. DE
03. EB 04. YD
05. CcYy

Referfd afsr & & =3 uF [T o & U 70 sraem § 39 927 F e ¥ UF 59 8 7 H UF 99g a9 gl 98 Hid 97 g S 99 &
Haferd a2 22

01. A7 02. DE
03. EB 04. YD
05. CYy

Solution for Question 4

eng

C



hi
Q-5 What should come in the place of question mark (?) in the following number series problems?
eng

325 314 288 247 191 ?

01. 112 02. 118

03. 120 04. 125

05. 130
Q-5 et deaT g aaerst § wraras =g (?) F T 9% FT A7 A0
hi

325 314 288 247 191 ?

01. 112 02. 118

03. 120 04. 125

05. 130

Solution for Question 5

eng The next number in the series is decreased by 11, 26, 41, 56 and so on.
Here the next number decreased is 15 more. So next number will be 191 — (56 + 15 ) =120

hi JGAT H AT 99T 11, 26, 41, 56 T 3 I¢ HSTAT AT 5
TET SRTAT AT FEhT 15 ST T ML g1 AT $Ter 7€ 191 - (56 + 15) = 120 FHTT
Q-6 What should come in the place of question mark (?) in the following number series problems?

620 632 608 644 596 ?

01. 632 02. 648
03. 656 04. 630
05. None of these
Q-6 fReferfd wem e« aaeast § ware e (2) F T 9 F#47 4= ATgu?

620 632 608 644 596 ?

01. 632 02. 648
03. 656 04. 680
05. =7 & FE A

Solution for Question 6

eng 620 + 12 =632, 620 — 12 = 608, 632 + 12 = 644,
608 — 12 =596, so 644 + 12 = 656

hi 620 + 12 =632, 620 — 12 = 608, 632 + 12 = 644,
608 — 12 =596, so 644 + 12 = 656

Q-7 In the following questions relationship between different elements is shown in the statements. These statements are followed by two
eng conclusions.

Statements:

A<B>C=D;

E>F>=G=H<B

Conclusions:



Q-7

I. A>G

II. D>H
01. Only conclusion I is true. 02.  Only conclusion Il is true.
03. Either conclusion I or IT is true. 04. Neither conclusion I nor 1T is true.

05. Both conclusions I and II are true.
e ot ¥ Faa A Afhrw aat & o dadg qafar 74721 9 FI91 F Ir 7 fAswd froag g st

F:
A<B>C=D;
E>F>G>H<B
Ao

. A>G

II. D>H

01. g fAerd [ 9T 2 02. Fer A [ & 2
03. =7 7 fAehe [ 97 11 97 2 04. 7T Fh [T T & T £
05. Zr=t Ao 1 i< 11 aeT )

Solution for Question 7

eng

Q-8

eng

A=B|>C=D
E>F=G=H=|B

A=Bl>»C=D
EF=G=H=|B

What should come in the place of question mark (?) in the following number series problems?

8,7, 11,12, 14,17, 17,22,?

01. 15 02. 22
03. 18 04. 20
05. 25

et deaT gaar aaearst § wraras =g (?) F T 9% F7 A7 A0

8,7,11,12,14,17,17,22,7

01. 15 02. 22
03. 18 04. 20
05. 25

Solution for Question 8

eng

hi

Q-9

eng

There are two series (8, 11, 14, 17, 20) and (7, 12, 17, 22) increasing by 3 and 5 respectively.
I @ (8, 11, 14, 17, 20) 37%(7, 12, 17, 22) FHLA: 3 {7 5 F 9 ol &

In the following questions relationship between different elements is shown in the statements. These statements are followed by two
conclusions.

Statements:
A<B>C=D;
E>F>G>H<B
Conclusions:
I.LE>H

ILB=G

01. Only conclusion I is true. 02. Only conclusion 1T is true.
03. Either conclusion I or I is true. 04. Neither conclusion I nor II is true.

05. Both conclusions I and 1I are true.

o ot % Faad TS acai F figadg qtaraar ) T FIF1 6 I3 7 FAewe frwae ) st

FIYT:
A<B>C=D;



E>F>G>H<B

Ao

LE>H

ILB=G

01. Fger fewd [ &7 2 02. Faer fAewd 1 HeT

03. 77 a7 e 137 11 77 ) 04. 7T e [ 37 7 &1 11 77 B

05. T AT 1T N aeT g

Solution for Question 9

eng (]
A=Bl>C=D

EF=G=H=|B

B —
A=B[-C=0D

E>F=G=H=|B

Q-10 In the following questions relationship between different elements is shown in the statements. These statements are followed by two
eng conclusions.

Statements:
K=L=M>N>O0;
P<Q<R=S<M

Conclusions:

I.LL>P

II. K>R

01. Only conclusion I is true. 02. Only conclusion 1T is true.

03. Either conclusion I or I is true. 04. Neither conclusion I nor II is true.

05. Both conclusions I and 1I are true.

Q-10 frawAi ¥ FATH fAforer a<at F A= gag qTATTATR | TTFAF1 6 AT 3T 5w frg g g saefHfvre-

HY:
K=L=M>N>0;
P<Q<R=S<M

Aoy

LLL>P

Il. K>R

01. e [Fhy [ 97 2 02. Fge FoFy 19T 2

03. 77 7 w137 197 &) 04. T T Ao [T T 2T 11 TF B

05. =1 Ao [ =< 1 5 2

Solution for Question 10

eng o
K=L=|MNz=0O
P<Q=zR=S<|M
hi —
K=L=|M>N=20O
P<Q=R=S<|M
Q-11 What should come in the place of question mark (?) in the following number series problems?
eng

15 25 40 65 ? 170

01. 120 02. 105



03. 110 04. 130

05. 150
Q-11 f=ffad dear saEar areara § wars (e (?) F & 9% F/7 J=1 Argu?

15 25 40 65 ? 170

01. 120 02. 105
03. 110 04. 130
05. 150

Solution for Question 11

eng 15 +25 =40, 25+ 40 =65 and 40 + 65 = 105

hi 15 + 25 =40, 25+ 40 =65 and 40 + 65 = 105

Q-12 In the following questions relationship between different elements is shown in the statements. These statements are followed by two
eng conclusions.

Statements:
Z>M<R=S>T,
S>N>F,

B=N
Conclusions:
LF>M

II. M>F

01. Only conclusion I is true. 02. Only conclusion IT is true.
03. Either conclusion I or I is true. 04. Neither conclusion I nor II is true.

05. Both conclusions I and 1I are true.

Q-12  fra i ® Faa ¥ fAfirer acat A= gag et AT 7T {1 T FAFTE 6 AT ¥ FAvw frg g g s A

FY:
Z>M<R=S>T,
S>N>F,

B=N

Ao

LF>M

II. M>F

01. Faer fohd [ 97 81 02. Faer w11 77 2l
03. 77 7 fAeFT 13T 19T &) 04. 7T Aohd [ 37 T & 1 TT 81
05. =T fAeed [ i< I e 2

Solution for Question 12

eng =
Z>M<R=S[>T
S|l>=N=B>F
hi sor—
Z>M=<R=S[=T
S|l>N=B>F

Passage for Question 13, 15, 17, 19, 21 (ST-199CRPPOPRE(6-10M)2019)
eng Passage

The bar-chart shows the total number of members enrolled in different years from 2014 to 2018 in two sports swimming and cricket. Based on this
bar chart, solve the following questions.

300




PR

300
250
200
150
100

2014 2015 2016 2017 2018

hi Passage
a'Tt:aﬁ FTEATFTATHT ATTHFDTF 2014 & 2018 T5F FRfsrwr awt & a1t iovg Fo aedi w1 qqiar g1 T ITATE F A1 9, Aafafaa

@ Cricket

B
Bfgsc

2014 2015 2016 017 2018

Q-13

eng

The ratio of the total number of members of both sports in 2015 to the total number of members in 2018 of both sports is-

01. 22:27 02. 1121
03. 21:11 04. 27:22
05. 13:25

2015 ® TYF1 @A F GIEIT I T A G&AT HT AT 2018 & IIF1 @ AT F GIEFT H 1 {A G &ATH ATT H199 -

01. 22:27 02. 11221
03. 21:11 04. 27:22
05. 13:25

Solution for Question 13

eng 270:220
27:22
hi 270:220
27:22
Q-14 If it is possible to make a meaningful word from the third, the fourth, the tenth and the eleventh letters of the word ACCOMMODATION using each
eng letter only once, fourth letter of that word is your answer. If no such word can be formed your answer is F and if more than one word can be formed your
answer is X.
01. C 02. 7
03. | 04. T
05. F
Q-14  =fT /58 ACCOMMODATION 3 Y, T, 304 SI¥ TREd Je3 1 T T 058 H Fae Uh a1 TART Fd g0 TF T €758 AT €9 2,
hi AT STx T FTAT STAX ATTHT I g1 T IS 9Teq TAHT AT Aol & Av STRT I F ¢ o< 7 us 7 o7f 2w ereg a@m@y oy & a7 ArerT S9< X &1

TFHAT B

01. C 02. 7
03. 1 04. T
05. F

Solution for Question 14

eng C, O, T, I = No words can be formed from these letters.
hi C,0, T, [ =39 FeA70 § IS 958 qgl O AT gl
Q-15 If in the year 2019, there is 30% increase in the total number of members enrolled in 2018 in both sports, then find the total number of

eng

members enrolled in 2019.



01. 276 02. 296
03. 286 04. 346

05. 542
Q-15  Afxas 2019 F AT G H 2018 § TTHI o HT€T HT 7o GCATH 30% F1 G gL, AV 2019 F 1 v AT H1 7o GoAT HT AT
hi AT

01. 276 02. 296
03. 286 04. 346
05. 542

Solution for Question 15

eng 70+150 =220
220%130% = 286

hi 70+150 =220
220%130% = 286

Passage for Question 1, 3, 4, 16, 18 (ST-1SRRBCLERKPRE(1-5R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

Eight friends A, B, C, D, E, Z, X and Y are sitting around a circle facing the center, but not necessarily in the same order.
D is not an immediate neighbour of A and E. X is sitting opposite to A. Z is sitting second to the right of A and third to the left of E. C is not an immediate neighbour
of A and Z. B is not an immediate neighbour of E and Z.

hi Passage

fafafaa ITasrd &1 sqmgd® Aegaa AR 3 13 7507 F ITCAT™T

a5 fA=r A, B, C, D, E, Z, X 31T Y U Jq 3 AT AT Fvg 1 0 TG 0k 95 g ATohe ST=dl Agl 1% o1 %7 H)
D, A 3f¥ E &7 Fsfeaq T2t 981 81 X, A % 93 931 €1 Z, A % I O 3T E F 70 AT 93T g1 C, A 3% Z FT fAshed® T2l 751 g1 B, E3fiT Z
FT Aeead TSl 78l 3

Q-16  Which of the following pairs has the first person sitting to the immediate right of the second person?

eng
01. YZ 02. EC
03. BA 04. 7D
05. EX
Q-16 wfated § 7 g SIS # T ATk gAY Ah & Qi T4 957 82
hi
01. vZ 02. EC
03. BA 04. 7D
05. EX
Solution for Question 16
eng ' C
B E
A X
. D
i
5 C
B E
A X
.4 D



Passage for Question 13, 15, 17, 19, 21 (ST-199CRPPOPRE(6-10M)2019)
eng Passage

The bar-chart shows the total number of members enrolled in different years from 2014 to 2018 in two sports swimming and cricket. Based on this
bar chart, solve the following questions.

300
250
200
150 [ Swimming

100 @ Cricket

50

o
2014 2015 2016 2017 2018

hi Passage

FIATE IT@ATH T ATHT AT THDEH 2014 § 2018 TF FAFHr= ot # aHTTF7 @ eI w1 qqTAT G| T ATTATE & a1 q, FAaAforiEa
)

300
250
200
150 DT
100 B

50

0
2014 2015 2016 017 2018

Q-17 The total number of members enrolled in cricket in 2017 and 2018 together is what per cent more than the number of members enrolled in
eng sports in 2014 and 2018 together?

01. 3478 02. 5478
03. 42.84 04. 38.09

05. None of these
Q-17 20178k T2018 § TH AT fohsh e | ATHITha GTeqT A1 [ 4 &AT 2014 T 2018 §F @ H FTHI Fha | 1 &1 | FohqaT wiaaqa 9

hi g2

01. 34.78 02. 5478
03. 42.84 04. 38.09
05,z i 7S T

Solution for Question 17

o ¥
eng 240 100=38.09%
630

hi 5.
240, 100=38.09%
630

Passage for Question 1, 3, 4, 16, 18 (ST-1SRRBCLERKPRE(1-5R)2020)
eng Passage

Study the following information carefully and answer the questions given below.
Eight friends A, B, C, D, E, Z, X and Y are sitting around a circle facing the center, but not necessarily in the same order.

D is not an immediate neighbour of A and E. X is sitting opposite to A. Z is sitting second to the right of A and third to the left of E. C is not an immediate neighbour
of A and Z. B is not an immediate neighbour of E and Z.

hi Passage




fafafaa ITasrd w1 samgd® Asgaa AR 3 13 7507 F ITAT™T

a5 fAT A, B, C, D, E, Z, X 3T Y T 9 % AT A< Feg il GCF T Fh 95 & ATohed Tl A1 {5 o1 6 H
D, A 3T E T fAshed® 92T 781 81 X, A % faada 97 81 Z, A F IT0 97 3T E % a0 A\ 9371 g1 C, A 3T Z FT Adheaqs 9=l 78l g1 B, EsfiT Z
FT ereay TS 981 2

Q-18 How many people sit between C and Y when counted in an anti-clockwise direction from C?

eng
01. Three 02. Two
03. Five 04. Four
05. None
Q-18  CHATATET fem | R ST 9% C 3f¥ Y F &= fohae T 95 82
hi
01. i+ 02. =7
03. of=r 04. =TT
05. Frs =gt
Solution for Question 18
eng i C
B E
A X
. £ D
4
hi
B E
A X
.4 D
Z

Passage for Question 13, 15, 17, 19, 21 (ST-199CRPPOPRE(6-10M)2019)
eng Passage

The bar-chart shows the total number of members enrolled in different years from 2014 to 2018 in two sports swimming and cricket. Based on this
bar chart, solve the following questions.

300
250
200
150 @ Swimming
100 @ Cricket

2014 2015 2016 2017 2018

hi Passage

FITATE IT@AT H1 AT AT THFHH 2014 & 2018 7 Fafersr awt & araifang o ageati F7 qqtar g1 I AE F g v, FAufafaa
T

300
250
200
1
1

¥1




oLHMM HN WE WH HH

2014 2015 2016 017 2018

Q-19 The number of enrolled members in swimming from 2015 to 2018 together is what percent more than the number of members enrolled in
eng cricket in 2017 and 2018 together?

01. 120.51% 02. 40.51%
03. 20.51% 04. 18.36%

05. None of these
Q-19 20158 2018 T&H ALTHT # ATHIFhd GIEAT A1 F&ATTH AT 2017 AT 2018 H fooshe § qrwi Fovg gaeat 1 a1 @ fvaw whoaa sfys
hi 22

01. 120.51% 02. 40.51%
03. 20.51% 04. 18.36%
05. =z & T

Solution for Question 19

eng 470 100=120.51%
390

= 120.51% - 100%
=20.51%

5 ﬂ <100=120.51%
390

=120.51% - 100%
=20.51%

Passage for Question 20, 23, 24, 26, 28 (ST-1SRRBCLERKPRE(11-15R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

A group of seven students R, C, D, N, G, X and B live in three cities- Lucknow, Bangalore and Delhi. There are four boys and three girls in the group. There are at
least one girl and one boy in each city. They belong to different colonies- Maharaja Colony, Silver Colony, Eldora Colony, Heera Colony, Ajanta Colony, SRS
Colony and Hofer Colony but not necessarily in the same order.

'R and G' are sister-brother who belong to Maharaja Colony and Eldora Colony respectively and both live in different cities. N belongs to Ajanta Colony and she
lives in city Bangalore. C does not live either with X or N. D is not a boy and belongs to SRS Colony and she lives in Delhi only with B. X does not belong to Silver
Colony and Heera Colony.

hi Passage

frafafaa Trasrh 1 ey d® AreggT R AT Tyt F swa-

q1d T R, C, D, N, G, X 3T B &1 UF G¥g T g~ A@A3,, SN 37 Goe| # T8 gl HHg | AT ASF 37T A ASHAT 5| TAF 0T8T § FH g H7
Q$m7ﬁaﬁrqaﬁm%|%w HAT HIATTATT- HETLTST FiAHT, FHea? FIAMT, TS T FIAMT, ST FHIAT, AT FAMT, THATTT AT AT
BT FHIATT F HATEIT 3, AT STET Agl [ UF &l %H | gl

R 3T G' TEA-9TE & ST HHA: HETLTST FHIATAT 31T UGS FIATAT o g AT ZIAT TT-3TT TZ2T | ¥gd &1 N STSiaT et § qaferd g i ag a2y
ST H TEAT 1 C, X ITN F 9T 72l TZaT g1 D U AZHT A5l & AT SRS FIeHT F Hafard g ¥ a8 faeeft § Faer B & A1 Tt 21 X feaw s
T EIRT FIAMT T Fe1ad T2i gl

Q-20  Who belongs to Hofer Colony?

eng
01. None 02. G
03. R 04. X
05. C

Q-20 (AT FHIAT T A &2

hi

01. F7s T 02. G




03. R 04. X
05. C
Solution for Question 20

eng

Name City Colony

R - Lucknow Maharaja Colony

C+ Lucknow Heera Colony/ Silver Colony
D- Delhi SRS Colony

N - Bangalore AiantaColonv

G+ Lucknow/ Bangalore Eldora Colony

X+ Bangalore Hofer Colony

B+ Delhi Heera Colony/ Silver Colony

hi AT AT FTeAT

R - Ercoed HERISAT el

C+ CrCed & Fiee / feay Fiaw

D - ey THHATH Fiatar

N - e ISt FietAT

G + F@as | dER TSR Fer
X + AR EI9T FiarT

B + Rt O Fiart / Reay Siart

Passage for Question 13, 15, 17, 19, 21 (ST-199CRPPOPRE(6-10M)2019)
eng Passage

The bar-chart shows the total number of members enrolled in different years from 2014 to 2018 in two sports swimming and cricket. Based on this
bar chart, solve the following questions.

300
250
200
150 [ Swimming

100 @ Cricket

50

o
2014 2015 2016 2017 2018

hi Passage

FILATE ITEHATHTATTHT AT DT H 2014 § 2018 TF FAFS= a9t & ariiorag £ Gl FrIATATZ | TAATCATE & AT 9, FAwferfaa
]

300
250
200
150 DT
100 B

50

0
2014 2015 2016 017 2018

Q-21 The number of members of Swimming in 2015 is what per cent of the number of members of Cricket in 2018?
eng



01. 50% 02. 30%
03. 45% 04. 60%
05. None of these

Q-21 2015 % qTTHT F GIEAT H 1 G&AT 2018 § FoFR T F qIedq| 1 &1 H7 v wiaera g2

01. 50% 02. 30%
03. 45% 04. 60%
05. v i 7S

Solution for Question 21

eng

hi

6_?3 %100 = 40%

6_% %100 = 40%

Q-22 Two equations I and II are given below in each question. You have to solve these equations and give answer.

eng

Le-1-0
Lyt 4y +3=0

01. x<y 02. x>y
03. X<y 04. X2y

05. x =y or no relation can be established

Q-22  IE T H &7 HHEOT 1S 11 R0 T §) SOy 3 S on H g HIAT g7 SHY AT &A1 g

Le-1=0
Lyis 43 +3=0

01. x<y 02. X>y
03. xSy 04. XEy

05. x =y IT IS qFawT TEATIHT Al AT ST
AT

Solution for Question 22

eng x=1,-1

hi

y=-1,-3

x=1,-1
y=-1,-3

Passage for Question 20, 23, 24, 26, 28 (ST-1SRRBCLERKPRE(11-15R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

A group of seven students R, C, D, N, G, X and B live in three cities- Lucknow, Bangalore and Delhi. There are four boys and three girls in the group. There are at
least one girl and one boy in each city. They belong to different colonies- Maharaja Colony, Silver Colony, Eldora Colony, Heera Colony, Ajanta Colony, SRS
Colony and Hofer Colony but not necessarily in the same order.

'R and G' are sister-brother who belong to Maharaja Colony and Eldora Colony respectively and both live in different cities. N belongs to Ajanta Colony and she
lives in city Bangalore. C does not live either with X or N. D is not a boy and belongs to SRS Colony and she lives in Delhi only with B. X does not belong to Silver
Colony and Heera Colony.

hi Passage

Fafafaa ITasrd #1 eamgd® AegaT FL A TA= Tt F sATI-

T ZrAT R, C, D, N, G, X 31T B &1 UF q¥g A Ug- d@q3,, SR 7 ot § 2 g 79 § A A+ ¥ 9 AShat g1 ToIF g7 § 7 J F7
qaﬁa@?ﬁaﬁtqa?m%w%aw AT HATTAIT- HZTTST FIATT, Hea? FIAMT, TSR FIAMT, ST FHIATT, FSTAT FIAMT, THATTH FHIATT AT
ST FIAT F Feferd g, Afhe STest 7l o U & %9 | 2

R 3T G' TEH-9TS & ST FHHI: HETIISAT HIATT ST TSI FIATHT % 8 3T AT AAT-3TT gl § Tgd 2| N STSIdT FHicATT T Haferd g 3T ag M8
AT H AT 81 C, X AT N F AT T&1 T@al gl D UF ASHT A5}l & ST SRS FHeA1 & HATerq g 3T ag faoett § et B F A1 gl gl X Feaw Fwer
T ERT FAFT T FfET T21 g




Q-23

eng

eng

Q-24

eng

eng

If C belongs to Heera Colony then who belongs to Silver Colony?

01. X 02. G
03. B 04. N

05. None of these
TfT C ERT FHIATT FT g AT Foea? FAMT w1 F4 82

01. X 02. G
03. B 04. N
05. =H qFIS A5T
Solution for Question 23
Name City Colony
R - Lucknow Maharaja Colony
C+ Lucknow Heera Colony/ Silver Colony
D= Delhi SRS Colony
N - Bangalore AjantaColony
G+ Lucknow/ Bangalore Eldora Colony
X + Bangalore Hofer Colony
B+ Delhi Heera Colony/ Silver Colony
AT AT HiarAT
R - qAGAF HERTSAT HidreAT
C + TEAS 8 Frar / Reaw FaE
D - et THHARTH HialA!
N - FrER Iear At
G + F@AF | AR TSR Fiet
X + Frew EI9T Fiatelt
B + Reeht ERT T | Reat FiaeEt
G lives in which city?
01. Bangalore 02. Delhi
03. Lucknow 04. Either 1 or 3
05. None of these
G T orge # TEar 27
01. ST 02. feoefy
03. FE" 04. 77T 1773
05. =% T IS AT
Solution for Question 24
Name City Colony
R - Lucknow Maharaja Colony
C+ Lucknow Heera Colony/ Silver Colony
D - Delhi SRS Colony

N - n::ﬂu:'|nm .ﬂ.'l:nhrnhm.r



by ¢ bbby T TR T Teea.

G + Lucknow/ Bangalore Eldora Colony

X+ Bangalore Hofer Colony

B+ Delhi Heera Colony/ Silver Colony
hi A M et

R - EICCED HERTSAT SieitAT

C + CICES & el / fear Hiee

D - el THHANTH Fice!

N - e AT FHiaEr

G + aEas | $ER weSh Fiar

X + iR BT Fiatelt

B + Tl 1 FiaT / Reat Hiaw

Q-25 Two equations I and II are given below in each question. You have to solve these equations and give answer
eng

L2x+3y=14
1L 4x+2y=16
01. X<y 02. x>y
03. X<y 04. X2y

05. x =y or no relation can be established
Q-25 YERAFTTH ITAHIHIO LTI FRTTTE) STt ST GHIFIO HT §H HFLAT ST off TTHATH ST FITI

L.2x+3y=14
1L 4x+2y=16
01. x<y 02. x>y
03. xgy 04. xzy
05. x =y IT FHI< qFL TEATIRT Tol (AT ST

HehdT|

Solution for Question 25

eng x=2.5
y=3
hi x=2.5
y=3

Q-26  Inwhich city do three students live?
eng

01. Lucknow 02. Delhi
03. Lucknow or Bangalore 04. Data inadequate

05. None of these
Q-26 fFrE e # fiF ar A &2

hi
01. TE"s 02. faeeft
03. FETS; AT TR 04. =TT ST
05. e & TS et
Solution for Question 26
i Name City Colony
R - Lucknow Maharaja Colony

C+ Lucknow Heera Colony/ Silver Colony



uv=- Uelil ano Lolony

N- Bangalore AiantaColonv

G+ Lucknow/ Bangalore Eldora Colony

Xt Bangalore Hofer Colony

B+ Delhi Heera Colony/ Silver Colony
hi A AT Hiatr

R - ELcCEd HERSAT ST

C + CICES & el / Reav Hiet

D - et THARCH Hie!

N - et AT i

G + wEas | AR TESHT Fet

X + ey BT Fiarelt

B + el 1 Fiellet / Reay Hialdt

Q-27 Two equations I and II are given below in each question. You have to solve these equations and give answer.
eng

L+ ox+20=0

Ioyi+ 7y +12=0

01. x<y 02. x>y
03. X<y 04. X2y

05. x =y or no relation can be established
Q-27 TAFTFTR ITFHTFINI A TN FRXTTTR | STFT ST FHTFION FY G FIATZIAT A T FTATH IATFIAT

L2t ov+20=0
L34 7y + 12 =0

01. x<y 02. X>y
03. xgy 04. Xzy
05. x =y IT IS qFawe TATTHT AT AT ST

FRAT|

Solution for Question 27

eng x=-5, -4
y=-3,-4
hi x=-5, -4
y=-3,-4

Q-28 Which of the following groups represents four boys?
eng

01. B,X,C,G 02. X,B,N,C
03. D,N,B,G 04. Data inadequate

05. None of these
Q-28 A% ® ¥ FA-A7 TYE AT AZFI HT IATAT &2

hi
01. B,X,C,G 02. X,B,N,C
03. D,N,B,G 04. =Tar FATH
05. =% T HIE AT

Solution for Question 28

= Name City Colony

R - Lucknow Maharaia Colony



Q-29

eng

C+ Lucknow Heera Colony/ Silver Colony

D - Delhi SRS Colony

N- Bangalore AiantaColonv

G+ Lucknow/ Bangalore Eldora Colony

X+ Bangalore Hofer Colony

B+ Delhi Heera Colony/ Silver Colony
A AT Lacicis

R - qEAS HERTSAT FletAT

C + CICED & Fiatt / feaw Fiaw
D - Rl THHANTH Fielr

N - LEEIH AT HieiteAr

G + wEF | AN TESHT Fiet

X + FreR ET Fiatelt

B + el 1 Fiarr / feaw Siak

Two equations I and II are given below in each question. You have to solve these equations and give answer.

L 2_14x+48 =0

01. x<y 02. X>y
03. xgy 04. X>y

05. x =1y or no relation can be established
TAFTTH ST GHIHTO LTI AT TT | S raFT 7 THIFTONT FT g FIAT 1T ;4 TTATH AT ZIT

L ¥ 14x+48 =0
IL 746 = 5y

01. x<y 02. x>y
03. xSy 04. x>y
05. x =y T T2 & FEATIhA Tal AT 1

|

Solution for Question 29

eng

hi

Q-30

eng

x=6,8
N7 =2%5)

Xx=6,8
y=23

Two equations I and II are given below in each question. You have to solve these equations and give answer.

L= 520
ILy =529
01. x<y 02. x>y
03. xSy 04. x>y

05. x =1y or no relation can be established

T ToT § T FHIHT 1 &2 11 T30 0 €| STl =7 Fefaheont &1 g1 FEAT g1 ST STare a7 gl

L= 520
ILy =529



01. x< y 02. x> y
03. x<y 04. x>y
05. x =y T 1< Hq¥awe T Tl (4T ST
FRAT|
Solution for Question 30

eng x=+23,-23
y=23

hi x=+23,-23
y=23

Passage for Question 31, 33, 34, 37 (ST-18RRBCLERKPRE(16-19R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

Jasmin is the wife of Ajeet and the daughter of Uma who is sister of Veera and is daughter of Preet. Ajeet has two sons Kamal and Gaur. Gaur is married to Yashi.
Mona is sister of Kamal who is brother of Leela.

hi Passage
afafag STasTd F18qMgd T A9 FIITCH A= Frw g vt & s

STHHI, TSI T T 3T AT T T & ST AT 6T T2 o7 i 1 T 21 TS0 & &7 T F7 12 A2 2| M2, 7ot & FBanfaa g1 7w, F#0e if a7 g 5
AT T TS B

Q-31  How is Ajeet related to Veera?
eng

01. Son 02. Son-in-law
03. Father 04. Nephew

05. None of these
Q-31 ST, AT F F9 aferd 82

hi
01 o 02. wq-T-at
03. foar 04. g
05. =it & 1S 7
Solution for Question 31
en
e Preet
Uma - — Veera
Jasmin- —— Ajeet +
v
A
Leela ——Mona- — Kamal+ Gaur+ —— Yashi-
hi T
3T - g
FEAA - —— T +

PN

A — Har - — FAA + M+ — wmbt-

Q-32 In a 1500 m race, Aman beats Sangram by 100 m and in 1200 m race, Sangram beats Avinash by 75 m. If Aman and Avinash are compared, then for
eng how much m Aman will beat Avinash in 900 m race?

01. 115 02. 1125



03. 118 04. 120.5

05. 124.8
Q-32 1500 HIeT I H, AT o HATH &1 100 HieT T 1200 Hex HT 31 § ST 7 AT&G=191 FT 75 Hied § gAT| 3 0T ST Afaarer it o
hi ST g, AT 39 900 Hiew it atg § srfammer &y fohaeT g2 arusm?

01. 115 02. 1125
03. 118 04. 120.5
05. 124.8

Solution for Question 32

eng Aman can beat Sangram by 100 m in 1500 m race.
Hence, when Aman covers 1500 m, Sangram covers 1400 m.
So when Aman covers 900 m, Sangram will cover 840 m.
Similarly, when Sangram covers 1200 m, Avinash covers 1125 m.
So, when Sangram covers 840 m, Avinash will cover 787.5 m.
.. Aman will beat Avinash by 112.5 m.

hi 1500 Hie< &g & 19+ S99 1 100 ¥ ¥ 40 a1 &
AT, & A 1500 HieT a7 FdT & a9 §UTH 1400 HieT FaT F:dr1 g
T ST A 900 HYew FT A FII, FATH 840 HIeT T FHa¥ FITITHT qLE, ST TUTH 7 1200
Hrex a7 B, stfaarer 7 1125 Hex f g ax v
AN, ST ST 840 Hexa™ FTdT &, AT SATaTer 787.5 Hie it g a7 FAm

" 3TH AfATer Y 112.5 He & g2 & m

Q-33  Which of the following is not true?

eng
01. Jasmin is the mother-in-law of Yashi. 02. Gaur is the brother of Mona.
03. Uma is the grand-mother of Kamal. 04. Veera is the brother of Uma.

05. Ajeet is the son-in-law of Uma.

Q-33 fFodHIFsAHaTTTTR8?

01. srereier, 7eft i AeT-zA-aT Q) 02. i, HET &7 ATS 2
03. AT, FHA T AUS-HEIT 04. T, IHT FT AT Bl
05. rSfia, I FT HF-27-41 21

Solution for Question 33

en
- Preet
Uma - ——— Veera
Jasmin- —— Ajeet +
o
/N
Leela ——Mona- — Kamal+ Gaur+ —— Yashi-
hi o
3T - grr
FEAT - — ST +
e
Y \
er — Her - — FAA + R+ — oefr-

Q-34  How many males are there in the family?
eng

01. One 02. Three
03. Five 04. Six

05. Cannot be determined

Q-34 TRERH AT (EU g?



01. ws 02. i
03. o= 04. =
05. fRetfa 72t &7 o

Solution for Question 34

en
& Preet
Uma - —— Veera
Jasmin- —— Ajeet +
/'J
7N
Leela ——Mona- Kamal+ Gaurt —— Yashi-
hi o
3T - —— @@
FHAA- —— Hald +
AN
A N
e — AT - — FAA + M +— aaft-

Q-35 A milkman makes 80% profit by selling milk mixed with water at Rs. 2/- litre. Compute the ratio of milk and water in the sold mixture if the cost price

eng of Re. 1/- litre pure milk is . Y
9

01. 23 02. 19
03. 29 04. 34

05. None of these
Q-35  UF GHATAT T % ATT % 2/ - A1aT H & IATHL 80% FTH FHTAT | =1 =107 § Fo7 ST qTA1 3 ST 61 T0ET F2 AT 1/ - e 05 39 FT

01. 23 02. 19
03. 29 04. 34
05. =8 ¥ FIS 75

Solution for Question 35

eng It is given that selling price of mixture P is = Rs 2
And Profit percentage on this P is = 80%
1002 10

so, the cost price of mixture Q is = =i

180 g

and we find that cost of mixture is 10% of cost of pure milk

igxmo:m%
9

—t

So, the ratio of milk to wateris 1 : 9.

hi 7g TR srar g o s P erar ea =258
3T TH P O¥ AT TfA9ra = 80% &
safom, fAsor QT o FeT :lggzz :%

3R eH Ui ¥ S0 f dwrd Yg gy N Anid @ 10%
E

igxmo:m%

9

—t

ar, gy @1 uTel P 3 1 9 ¥

Q-36 A certain amount of money is lent out at compound interest at the rate of 20% per annum for two years, compounded annually. It would give



eng Rs. 482 more if the amount is compounded half yearly. Find the principle.

01. 18000 02. 17500
03. 20000 04. 24700
05. 25600
Q-36 uwfAfagufarsrara s forw20% sfv ad 1 v & awgfa sara v gawar £y arft &, S ararar awgfg a1 ag ufrafs
hi Fefari¥s w8 fafra g av T 482 ¥+ yra grd 81 gogT I13 FAINQ
01. 18000 02. 17500
03. 20000 04. 24700
05. 25600
Solution for Question 36
eng When compounded annually, the amount received at the end of the period is A
o,

When compounded half yearly, the amount received at the end of the period is A

¥

?
y 1+
F 100 |
P[(1.20) - 1]
P[(1.10) -1

The difference between the two is Rs. 482

PI(1.10)°~1] - P[(1.20)"-1] = 482

hi STe AT =9 & 3T STTaT 2, a1 Aate & ofd § T A AT

[ ¥ ",:.'
1+ — |
i . 100

Sa 3¥ale 9 A TRAT ST &, dr 3Ef & T F urg AR AT

s 3
¥ 100 |

P[(1.20) -1
P[(1.10)' -1

At & g T R T 482
PI(1.10)°~1] - P[(1.20)"-1] = 482

P [1.4641 —1.44] =482
P =Rs. 20,000

Q-37  How is Preet related to Ajeet?
eng

01. Grandfather 02. Grandmother
03. Father 04. Brother

05. Either 1 or2
Q-37 W19, i | #4 "atea g2

01. feweT 02. d=Hex



03. faqr 04. TS
05. ZTar1ar2

Solution for Question 37

eng

Q-38

eng

Preet
Uma - ——— Veera
Jasmin- —— Ajeet +
//
VA
Leela ——Mona- — Kamal+ Gaur+ —— Yashi-
urer
3T - g
FuAE- — ha +
i \
e
o
Aer — Her - — FAA + TR+ — -

How many such pairs of letters are there in the word ‘FORMETATION?” each of which has as many letters between them in the word as they have
between them in the English alphabet?

01. Five 02. Three
03. Two 04. One
05. Four

915 ‘FORMETATION’ ®, 7&4%1 & fohae UH ST2 8 s & Yol o = orex § I & 37e4% g forae o7 39 a1 SISl auieTer § gid 872

01. = 02. 9=
03. =¥ 04. TF
05. 91T

Solution for Question 38

eng

hi

Q-39

eng

FORMETATION = FO, EI, NO, MO
FORMETATION = FO, EI, NO, MO

Avinash walked 12 km to reach the station from his house. Then he boarded in a train and reached his destination. The average speed of the entire journey
was 62 kmph and he took a total time of 6 hours. If the average speed of train was 120 kmph, then what is the ratio of walking speed of Avinash to the
speed of train?

01. 19 02. 2:29
03. 1:30 04. 4:5
05. 34

srfarTer 12 foret S5 Trerae oToe =T | 2o TgAT| 6 a8 UF oF | "1 I ST qed 9% IgHT| T ATAT AT ST i 62 Rt uf = off
T I A 6 He T quA foram| 7w a7 7 sfiea wia 120 et wfa ser off, av o7 7 i T srfammer & === ¥ Tid 7 ST qa1d #4782

01. 19 02. 2:29
03. 1:30 04. 45
05. 34

Solution for Question 39

eng

Let the time travelled in train be 'X' hours
Total distance =62 X 6 =12 + 120 X x
372 =12+ 120x
x=3
So, Avinash walked for (6-3) = 3 hours
Walking speed of Avinash

i

3



Required ratio=4: 120=1: 30
hi A R A AT FT O X e g
FAFUT =62 x6=12+120 xx
372 =12+ 120x
x=3
a, 9T (6-3) = 3 H TF AT
srfaaTer Y = £ fx
2_,

3
aflg sgaTa =4:120=1:30

Passage for Question 40, 42, 44, 46, 48 (ST-1SRRBCLERKPRE(21-25R)2020)
eng Passage

Study the following information carefully and answer the question given below.

In a certain coding language:-

TOUGH, TRIM, TOUR is written as op, ad, na.
TASK, TOUR, TIP is written as ad, ak, po

TRIM, TOOTH, TALK is written as ro, mb, na.
TOOTH, TUTION, TEAR is written as mb, yt, hg.
TALK, TALENT, TOUR is written as ad, ro, wr.

hi Passage

Fafafaa aTasrd &1 eamgd® segaa L A= fRoag g sraacd

u s Af3ra Fre arar §-

TOUGH, TRIM, TOUR #T op, ad, na feraT smar g1
TASK, TOUR, TIP & ad, ak, po foraT SmaT 21
TRIM, TOOTH, TALK T ro, mb, na for@T ST g1
TOOTH, TUTION, TEAR T mb, yt, hg foraT ST 81
TALK, TALENT, TOUR & ad, ro, wr for@T ST 21

Q-40  What does "wr" stands for?

eng
01. TEAR 02. TALENT
03. TALK 04. TASK
05. TOUR

Q-40  "wr" FrEET Ml Far 82

hi
01. TEAR 02. TALENT
03. TALK 04. TASK
05. TOUR

Solution for Question 40

eng x xX
TOUGH TOUR op ad

xx e d
TASK TOUR TP ad ak po

me o [@ @
TUTION TEAR (mb| v hg

*X
TALK TALENT TOUR ad o wr

hi xx xx
TOUGH TOUR op ad

xx e d
TASK TOUR TP ad ak po



Q-41

eng

e N
@ TALK o [mb] (na)
TUTION TEAR [mb] hg

xx
TALK TALENT TOUR ad o Wr

The income tax department has changed the method of calculating the tax amount from a flat tax of 10% on the total income to a fixed charge of Rs.
20,000 plus 5% tax on the income exceeding Rs. 2,00,000. If an individual’s tax amount as per the new calculation is Rs.5,000 less than that found by
using the old formula, what is his total income?

01. 320000 02. 340000
03. 350000 04. 300000
05. 250000

ATTFHT FAATT T FHT TTFA T TET FA HT TR TaA AT g T F T [ T2 HA T TT 10% F =18 T30 7 707 20,000 F¥ 77 21w 77fer
2,00,000 F A T AT TT 5% FHT 7T 277 72 0T F st 9w 7ty Ry sicn Fr qoft oM F sreme & % 5000 FH I 929 § 91 39 AR
T AT AT HITorA?

01. 320000 02. 340000
03. 350000 04. 300000
05. 250000

Solution for Question 41

eng

Q-42

eng

Let the taxable income be Rs. x.

Tax amount (in Rs.) as per old calculation = 0.1x

Tax amount (in Rs.) as per new calculation = 20000 + 0.05 (x —200000) = 0.05x + 20000 — 10000=
0.05x + 10000

The tax amount as per the new calculation is Rs. 5,000 less than that found by the old calculation.

.. 0.05x + 10000 = 0.1x — 5000

.. 0.05x = 15000

.. x=300000

FT AT AT AT % X A Ad &

TRTHT ITUET o SATETE HT AL (F H) = 0.1x

T MUET F FATATT FT L (F ) = 20000 + 0.05 (x - 200000) = 0.05x + 200,000 - 10000=
0.05x + 10000

T AT F SATATT FT L E AT T0ET 7 5,000 FH 7

0.05x + 10000 = 0.1x — 5000

0.05x = 15000

.. x=300000

What is code for TASK?

01. ak 02. sd
03. ad 04. po
0S. Either ak or po

TASK T FTT F4T 82

01. ak 02. sd
03. ad 04. po

05. =TT ak IT po

Solution for Question 42

eng

e . XX nx
TOUGH Kff@ TOUR op ad @

X e d
TASK TOUR TP ad ak po

() [room] Tak s [mo] (na)



(RS T8 8y Uiy TeAn mo ¥

o0 XX
TALK  TALENT TOUR ad 0w
hi XX xx
ToucH (TRM ) TOUR op ad @
xx XK
TASK  TOUR TP ad a2k po

®

P
I \

TRIM TOOTH| TALK ro mb na
- — — Lo

TOOTH| TUTION TEAR (mb| v hg

X XX
TALK  TALENT TOUR ad 0 wr

Q-43 Speed of boat along and against the current are 16km/h and 6km/h respectively, the speed of current is:
eng

01. 4km/h 02. 5km/h
03. 3km/h 04. 2 km/h

05. None of these
Q-43 o % ATy & fFrodi A i iy wwer: 16 Gl / = 6w 6 Gt/ wer 8, e v aify &

01. 4km/h 02. 5km/h
03. 3km/h 04. 2 km/h
05. it & A T

Solution for Question 43

eng Speed of downstream = 16km/h
Speed of upstream = 6km/h
Speed of current = 1/2(16-6)

=5 km/h
hi T o foem # 19 ¥ 7fd = 16km/h
o o foradia fesm & 13 i fa = ekm/h
T T TR =1/2(16-6)
=5km/h

Q-44  What does "mb" stands for?

eng
01. TASK 02. TRIM
03. TIP 04. TOUGH
05. TOOTH

Q-44  "mb" FFEH FEAT FAT?

hi
01. TASK 02. TRIM
03. TIP 04. TOUGH
05. TOOTH

Solution for Question 44

eng XX xX
TOUGH @ TOUR op ad @

xx xx
TASK TOUR TP ad ak po

) [oom] mx o [ @

8



TUTION TEAR yi hg

*X xx
TALK  TALENT TOUR ad o wr
hi 0 ¥
TOUGH @ TOUR op ad
xx xx
TASK TOUR TP ad ak po

®

TRIM TALK 0 (ne)
TUTION TEAR (mb| hg

XX xx
TALK  TALENT TOUR ad 0w

Q-45 A has done 1/3rd of work in 30 days, B complete the rest of job in 90 days. In how many days can they together do the job?
eng

01. 34days 02. 32 days
03. 54 days 04. 52 days

05. None of these
Q-45 AT 30 3T 7 UF w19 7 1/3 R 7 F T §| B 7797 got #17 90 e 7 27 Fwar 2| a1 et 78 w1 fhae fag 7 @ &7 996 2

01. 34 02. 32few
03. 54f 04. 522+
05. Eﬁﬁqﬁé:@ﬁ

Solution for Question 45

1
i A — ”"g work — 50days
1 unit = 30 days
3 unit =90 daiys
2
B -2“3— work 99days
2 unit work = 90 days
3 unit = 135 days
Time efficiency
A 20 3
1
270 «
B 135 2
i her I he work = Total work
(A+B) together complete the wor _—efficiency
2
s
=54 days
hi

1
A ”"g work — 50days

1 unit = 30 days



Junt=u dapfs

2
B —i'?: work —99days
2 unit work = 90 days
3 unit = 135 days

Time efficiency

A 90 3
» :
270 o
B 135 2
—
Total work
(A+B) together complete the work = ———
efficiency
270
5
=54 days
Q-46 What is code for TIP?
eng
01. op 02. na
03 ad 04. ak/po
05. po
Q-46  TIP T HTs FT 7?2
hi
01. op 02. na
03. ad 04. ak/po
05. po

Solution for Question 46

eng XX X
TOUGH TOUR op ad

xx e d
TASK TOUR TP ad ak po

TUTION TEAR (mb| hg

wx xx
TALK  TALENT TOUR ad o wr
hi XX X
TOUGH TOUR op ad
xx xxK
TASK  TOUR TIP ad ak po

me o [ @
TUTION TEAR (mb| hg

wx xx
TALK TALENT TOUR ad o wr

Q-47 Ram, Ravi and Raghu invest to start a restaurant. The total investment was Rs.3 lakhs. Ravi invest Rs.50000 more than Ram and Raghu invested Rs.25000
eng less than Ravi. If the profit at the end of end of year was Rs.14400, then what is the profit of Raghu?



01. Rs.4800 02. Rs.5850
03. Rs.3700 04. Rs.5900

05. None of these
Q-47 T, T 3T T UF TERE & FA F (o0 (e Fd 2| |/ [aer 3 A0 &0 7 97 | T T 709 ¥ T 7 50000 0 stferw Ferer B sie

hi T T T 7 25000 FT FHT FHH feerer | Tf a7 o ST 7 STSTq AT 14400 FAC AT, TT 37 ATH T TF 7 e Fhaar g2
01. Rs.4800 02. Rs.5850
03. Rs.3700 04. Rs.5900
05. =% T HTE T4

Solution for Question 47

eng Let the investment of Ram = x
Investment of Ravi = x+50000
Investment of Raghu=(x-+5000)-25000
According to the question,
x+(x+50000)+(x+50000)-25000=300000
x=Rs.75000
Investment of Raghu=Rs.100000

100000
Raghu share of profit = ———x 14400
300

Required share = Rs.4800

hi HET TF 1 997 = x
e &1 fawT = x+50000
T 1 a9 =(x-+5000)-25000
TR,
X+(x+50000)+(x+50000)-25000=300000
x=Rs.75000

T %1 a9 =Rs.100000

100000
T T T | fes = ———x 14400
300000

Required share = Rs.4800

Q-48  Whatis code for TOUGH, TUTION?

eng
01. yt, 1o 02. yt, mb
03. mb, ro 04. yt, ad
0S. op, yt
Q-48  TOUGH, TUTION T %< T &2
hi
01. yt, 10 02. wt, mb
03. mb, ro 04. yt, ad
05. op, yt
Solution for Question 48
eng P . XK~
TOUGH k\TRIM ) TOUR op ad (na)
R Mt

XK XX
TASK TOUR TP ad ak po



f \I .f_ %
TRIM TOOTH| TALK _fo mb l\.f,-”
TOOTH| TUTION TEAR ‘mb| w hg

XX XX
TALK TALENT TOUR ad o Wr

TOUGH K@ TOUR op ad @

XX XX
TASK TOUR TP ad ak po

@ TALK _fo mb {::ia:‘;
TUTION TEAR @ W hg

XX XX
TALK TALENT TOUR ad o Wr

Q-49 If average of 5 consecutive number starting with m is n. find the average of 6 consecutive number with m+2?
eng

01. (n+4) 02. (n+2.5)
03. (n+2.5)(n+2.5) 04. (n+3.5)

05. None of these
Q-49 T[T 5 FARIT HCATH HT 6T n g ST ST AT m T L S1AT 8| 6 FHNIT SEATAT HT SATET AT o1 ST T m+2 & = gl 82

01. (n+4) 02. (nt2.5)
03. (n+2.5)(n+2.5) 04. (n+3.5)
05. 30§ 1S &l
Solution for Question 49
eng Lets 5 consecutive number are=mab ¢ d
In the given number,
b is the average and gap=1
a=m+1
b=m+2
In the given question,
b=n=m+2
Again, let the numbers are
n (ntl) (©+2) (@©+3) (nt+4) (nt+5)
Hence,

. n+n+5s
Required average = ——
2

=(n+2.5)
hi HET 9= shATd §&AC =m a b ¢ d
fow g Hes T
b 37T & 3R IR = 1
a=m+1
b=m+2
gy fEmme
b=n=m+2
T, W SR
n (ntl) (nt2) (nt3) (nt4) (nt5)

Hd:

£}

i 37 :n+n+5
2

=(n+2.5)



Passage for Question 50, 52, 55, 56, 58 (ST-1SRRBCLERKPRE(26-30R)2020)
eng Passage

Following questions are based on Six Four digit numbers given below:

2052, 1133, 1746, 1827, 1186, 2791

hi Passage
afafaa v = & 714t 5 IR AR dearar v sraTia g|

2052, 1133, 1746, 1827, 1186, 2791

Q-50

eng

If fourth and third digit of each of the number will interchange each other than how many number will become a perfect square?

01. 1 02. 2
03. 3 04. 0
05. 4

T Tl HEAT & AT 3T ATGY 3 I § Ta (U ST AT T7 T a1 GATAr H ohaet ST qof av1 giit?

01. 1 02. 2
03. 3 04. 0
05. 4

Solution for Question 50

eng

Q-51

eng

2052, 1133, 1746, 1827, 1186, 2791
2025, 1133, 1764, 1872, 1168, 2719

45y (42)?
2052, 1133, 1746, 1827, 1186, 2791
2025, 1133, 1764, 1872, 1168, 2719
45)? 2y

Divya wants to sell her Computer. Two of Divya's friends, Simran and Ankita are interested in buying the Computer. Simran is willing to pay her Rs. 11000
upfront. Ankita, on the other hand, is willing to pay Rs 13440, which is more than Simran's offer, but she'll be paying the credit after 9 months, the rate of
interest is 16% p.(1) What percent profit/loss does Diyva gain/lose by choosing Ankita's offer with respect to choosing Simran's offer?

01. 6.24% 02. 12%
03. 9.09% 04. 16.6%
05. 24%

AT ST Fge Y S=AT ATt ) fEEET i a1 Aot e siT sifehar FgeT @iEAT Argdl o) e, fRgam # 11000 = FF aim et
T FIST TIEAT ATEAT 2| FHFAT 13440 F THT FIEL GUEAT ATl § ST 16 (AL il gerier & T4 &, AT o gerir 7 9 Agie 1%
16 TTeTa AT T FATS 3T F AT HI07| AT F Q1o T 7 F0ge? a= 9 faamr w1 e wiaera & ara/ar= geir?

01. 6.24% 02. 12%
03. 9.09% 04. 16.6%
05. 24%

Solution for Question 51

eng

If Divya chooses Simran's offer, Divya gets Rs. 11000

The present value of Simran's money is 11000

If Divya chooses Ankita's offer, Divya gets Rs. 13440 but after 9 months

To be able to find out the profit/loss we need to find the present value of Ankita's money.
Formula:

In Simple Interest, present worth of an amount is given by

100 = Amount

100 + (R xT)

Present worth =

Where R = rate of interest and T = time period in years
Using this,
10013440



Present worth of Ankita's money = 9
100+ (16 17)

100 13440

Present worth of Ankita's money = ———
100 +(4x3)

100 = 13440
112

Present worth of Ankita's money =

Present worth of Ankita's money = 120 x 100 = 12000 Rs.

Thus, the present worth of Ankita's money is more than Simran's money. So by choosing Ankita's offer, Divya can gain a profit.

12000-11000 §
11000

Percent Profit = @ =09.09%

110

hi oY T T T Toreher AT &, T fE=AT &1 %1 11000
o % 9 &7 F4H 4T 11000
ST T2t o SifeRaT & wedTa 0 94T, 91 fGe1T T %) 13440 | 9 e are
TR % T T ATHTT HoF @IS & (o7 ZH AT / FTA T IaqT A9 § T&7 g7 AT 0]

Percent Profit = 100

T
LTI SATST |, T TIFL 6 FA0 o % I (23T S 8
:100 = Amount
100 + (R x T

STET 9Nl § R = o471 &€ 31T T = U0 37aty
THHT ST Hd T,

I 100 13440
T - 100+(16x%j

1 100 + (4% 3)

2 3ifpaT & 49 = 10013440
L 112

AfRdT & T IdH= T = 120 x 100 = 12000 FGF
39 YT, feRdT & T8 AT I Had e & 09 § 71Uk 81 3HfaTy STfhdT & HATHT BT R fEear oy shuT Tehdt 81

yistd oy 12000 —-11000 4100
11000

wferera = % =0 09%

Q-52 If second and fourth digit of each of the number will interchange each other than how many number will become a perfect cube?
eng

01. 3 02. 2
03. | 04. 0
05. 4

Q-52  =f3 v ST F THL ST AT 3 I9 H 98 (U AT q¥ 36 T a1 Gearar # et §ed1 qof = g2

01. 3 02. 2
03. 1 04. 0
05. 4

Solution for Question 52

eng 2052, 1133, 1746, 1827, 1186, 2791
2250, 1331, 1647, 1728, 1681, 2197

an® a2} (13)?

hi 2052, 1133, 1746, 1827, 1186, 2791

2250, 1331, 1647, 1728, 1681, 2197
(11)? (12)3 (13)3



eng Passage

Income Saving
Anil 34900 14500
Bimal 26250 9540
Chirag 41220 17590
Dheeraj 63780 24320
Eshaan 22300 7560
hi Passage

Read the following information carefully to answer the questions asked-
Following table gives information about income and saving of five persons.

Passage for Question 53, 54, 57, 59, 60 (st-217crppopre (21-25m)2019)

T TT TS & SALA & forg Awferfas arasmd 1 saragd# a@-
Rrferieaa arfert o= safeat 7 17 3T F9q % a1 H ATHET ol gl

EIEl EEG]
EEEd 34900 14500
eIt 26250 9540
e 41220 17590
GitE] 63780 24320
29 22300 7560
Q-53 Among five whose saving percent is second highest?
eng
01. Ani 02. Bimal
03. Chirag 04. Dheeraj
05. Eshaan
Q-53  °f=i ® foheer a9 afaad qates a7 82
hi
01. srfaer 02. fawer
03. =rmT 04. efivsr
05. o=
Solution for Question 53
eng Required answer=Anil
Income | Saving |Expenditure| Saving % | Expeniture %o
Anil 34900 14300 20400 41.547278 | 58.45272206
Bimal | 26230 9340 16710 36.342857 | 63.65714286
Chirag | 41220 17590 23630 42673459 | 57.32654051
Dheeraj| 63780 | 24320 39460 38.131076 | 61.86892443
Eshaan | 22300 7360 14740 33.901345 | 66.09865471
hi iy ST=etfer
R E EEL] =g =4q % =g %
aftae 34900 14300 20400 41.547278 | 58.45272206
fame 26250 9340 16710 36.342857 | 63.65714286
= 41220 17390 23630 42.673459 | 57.32654051
Siies 63780 | 24320 39460 38.131076 | 61.86892443
LG 22300 7560 14740 33.901345 | 66.09865471




Q-54 Find the ratio of total expenditure and total savings of Bimal and Dheeraj
eng

01. 5697:3466 02. 5647:3386
03. 5617:3386 04. 5617:3286

05. None of these
Q-54 39 i< iR % [ =77 Sl |/ T T AIT AT D117 |

hi
01. 5697:3466 02. 5647:3386
03. 5617:3386 04. 5617:3286
05. =it i 7S Y

Solution for Question 54

eng Required answer =56170:33860=5617:3386

Income | Saving |Expenditure| Saving % | Expeniture %

Anil 34900 | 14500 20400 41.547278 | 58.45272206

Bimal | 26250 9540 16710 36.342857 | 63.65714286

Chirag | 41220 | 17390 23630 42.673459 | 57.32654051

Dheeraj| 63780 | 24320 39460 38.131076 | 61.86892443

Eshaan | 22300 7560 14740 33.901345 | 66.09865471
hi F+fTe IAT=56170:33860=5617:3386
T EEL] =g g4 % =g %

st | 34900 | 14500 20400 41.547278 | 58.45272206

fam= | 26250 9340 16710 36.342857 | 63.65714286

fmwr | 41220 | 17590 23630 42.673459 | 57.32654051

o | 63780 | 24320 39460 38.131076 | 61.86892443

39 [ 22300 7360 14740 33.901345 | 66.09865471

Passage for Question 50, 52, 55, 56, 58 (ST-18RRBCLERKPRE(26-30R)2020)
eng Passage

Following questions are based on Six Four digit numbers given below:

2052, 1133, 1746, 1827, 1186, 2791

hi Passage
atataa v = < 74t 5 FIe AT dearar v sraTia g|

2052, 1133, 1746, 1827, 1186, 2791

Q-55 If all the digits within the numbers will arrange in ascending order then which number will became the second highest number?
eng

01. 2052 02. 2791
03. 1746 04. 1133
05. 1827

Q-55  =f oo |EAT o AT S0 T a@d gU FH H T AT ST A1 37 TH1 a1 HeATar | Hid I SEA7 AL a4 Igad SeAT gif?

01. 2052 02. 2791
03. 1746 04. 1133
05. 1827

Solution for Question 55

eng



2052, 1133, 1746, 1827, 1186, 2791
0225 1133 1467 1278 1168 1279

2052, 1133, 1746, 1827, 1186, 2791
0225 1133 1467 1278 1168 1279

Q-56 If second digit of second lowest number is subtracted by third digit of highest number than what will be the result?
eng

01. § 02. 7
03. ¢ 04. 5
05. 4

Q-56 =T T Haw Rwraw €T F O 3F T 999 SYIH TEAT F A9 dF F =TT 3T S qv afverms #w g

01. 8 02. 7
03. 6 04. 5
05. 4

Solution for Question 56

eng 9-1=8

hi 9-1=8

Passage for Question 53, 54, 57, 59, 60 (st-217crppopre (21-25m)2019)
eng Passage

Read the following information carefully to answer the questions asked-
Following table gives information about income and saving of five persons.

Income Saving
Anil 34900 14500
Bimal 26250 9540
Chirag 41220 17590
Dheeraj 63780 24320
Eshaan 22300 7560

hi Passage

T TT TSI & SALA & foyg FAuferfad s 71 sqragd & ag-
Frferfera arferr o= safxeat &t s o = 6 a § ST St 81

ETIE] EED|
AT 34900 14500
eIt 26250 9540
Ter 41220 17590 |
it 63780 24320
BRI 22300 7560

Q-57  Income of Anil is approximately what percent of saving of Dheeraj?

eng
01. 132% 02. 144%
03. 126% 04. 159%
05. 929,

Q-57 ATt ¥ 3, oSt ¥ T9T HT ATAT T Traerd g2

hi
01. 132% 02. 144%
03. 126% 04. 159%
05. 929%

Solution for Question 57



en
& Required answer = 34900 %100 = 144%
24320
Income | Saving |Expenditure| Saving % | Expeniture %
Anil | 34900 | 14500 20400 41.547278 | 58.45272206
Bimal | 26230 | 9540 16710 36.342857 | 63.65714286
Chirag [ 41220 | 17390 23630 42.673459 | 57.32654051
Dheeraj| 63780 | 24320 39460 38.131076 | 61.86892443
Eshaan | 22300 | 7560 14740 33.901345 | 66.09865471
hi 34900
e 3= x100 = 144%
24320
HTT =4 =g =4 % =g %

st | 34900 | 14500 20400 41.547278 | 58.45272206

fame | 26250 9340 16710 36.342857 | 63.65714286

fmmr | 41220 | 17590 23630 42.673459 | 57.32654051

g | 63780 | 24320 39460 38.131076 | 61.86892443

ELLE] 22300 7360 14740 33.901345 | 66.09865471

Passage for Question 50, 52, 55, 56, 58 (ST-1SRRBCLERKPRE(26-30R)2020)
eng Passage

Following questions are based on Six Four digit numbers given below:

2052, 1133, 1746, 1827, 1186, 2791

hi Passage
fafafaa v = < 74t 5 IR A FiT dearar v swaTia g|

2052, 1133, 1746, 1827, 1186, 2791

Q-58 If second lowest number is subtracted by highest number than what will be the result?
eng

01. 1505 02. 1615
03. 1595 04. 1605
05. 1705

Q-58  =fe TALT a9 (Ao He&T T 9a€ IgaH ST | 7eT 3T ST af Tort #2T gR?

01. 1505 02. 1615
03. 1595 04. 1605
05. 1705

Solution for Question 58

eng 2791 - 1186 = 1605

hi 2791 - 1186 = 1605

Passage for Question 53, 54, 57, 59, 60 (st-217crppopre (21-25m)2019)
eng Passage

Read the following information carefully to answer the questions asked-
Following table gives information about income and saving of five persons.

Income Saving
Anil 34900 14500
Bimal 26250 9540




Chirag 41220 17590

Dheeraj 63780 24320

Eshaan 22300 7560
hi Passage

T TT TS & SALA & forg Awferfas s #1 saragd = a@-
Rmrferfea arfersr o= safeat 7 7 3T F9q % a1 § I ol gl

EIE] EEr
S 34900 14500
ot 26250 9540
Term 41220 17590 |
Cite] 63780 24320
el 22300 7560
Q-59  Find the average expenditure of all five persons.
eng
01. 13970 02. 13943
03. 14772 04. 14508
05. None of these
Q-59 =t = ATRAT % SiEd AT HT IqT TG
hi
01. 13970 02. 13943
03. 14772 04. 14508
05. = F FI1E AT
Solution for Question 59
eng Required answer =73510/5=14702
Income | Saving |Expenditure| Saving % | Expeniture %o
Anil 34900 | 14300 20400 41.547278 | 5845272206
Bimal | 26250 9540 16710 36.342857 | 63.65714286
Chirag | 41220 | 17590 23630 42.673459 | 57.32654051
Dheeraj| 63780 | 24320 39460 38.131076 | 61.86892443
Eshaan | 22300 7560 14740 33.901345 | 66.09863471
hi arofie ITY=73510/5=14702
HTT L =q =4 Y% =g %
ayfae 34900 14300 20400 41.547278 | 58.45272206
o= | 26250 9540 16710 36.342857 | 63.65714286
e 41220 17390 23630 42.673459 | 57.32654051
SitE | 63780 | 24320 39460 38.131076 | 61.86892443
R 22300 7560 14740 33.901345 | 66.09865471
Q-60 Find the total expenditure of Anil, Chirag and Eshaan.
eng
01. 57720 02. 53950
03. 58770 04. 56390
05. None of these
Q-60  =fer, o =T 2orTe 7 F{A 7T Fq o
hi
01. 57720 02. 53950




03. 58770 04. 56390
05. =H q FIE A1

Solution for Question 60

eng Required answer=20400+23630-+14740=58770

Income | Saving |Expenditure| Saving % | Expeniture %

Anil 34900 | 14500 20400 41.547278 | 58.45272206

Bimal | 26250 9340 16710 36.342857 | 63.65714286

Chirag | 41220 | 17590 23630 42.673459 | 57.32654051

Dheeraj| 63780 | 24320 39460 38.131076 | 61.86892443

Eshaan | 22300 7360 14740 33.901345 | 66.09865471
hi 3THTE IT=20400+23630+14740=58770
T a0 =g =aq % =g %

st | 34900 | 14500 20400 41.547278 | 58.45272206

fam= | 26250 9540 16710 36.342857 | 63.65714286

femmr | 41220 | 17390 23630 42.673459 | 57.32654051

g | 63780 | 24320 39460 38.131076 | 61.86892443

ELAE] 22300 7560 14740 33.901345 | 66.09865471

Passage for Question 61, 62, 64, 67, 68 (ST-1ISRRBCLERKPRE(31-35R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

A college debate week was held from 12 to 19 of a month, where the date was 12 on Thursday. During that period six topics - Biography (B), Charity (C), Time
management (T), Nepotism (K), Hypertension and Fraud (F) were to be covered but each day had only one topic. Further information is given below -

No topic was covered on Monday and Friday. Nepotism topic was covered on Tuesday. There was a gap of two days between topics Charity and Fraud. Fraud
topic was not covered on Sunday. Time management topic was covered on the exactly previous day of that day on which Charity topic was covered. Hypertension

topic was not covered on the starting and closing dayi, i.e., 12th and 19th,

hi Passage
frafafag TTasTd 1 s @ 02 AT A= fRrraw st F sacdifie-

T FHleTsT & ATE-TAaT THTG FT AT UF g+ 6 12 F 19 oot T oy w2, gt G 12 F7 [am om 359 @ty F 3w 2g Gwt - sfrae,
IR, T TU, TOIESH, I THATT AT AT 7 Fa< FohgT ST =7, AfheT weiw e dhaer ua fawer =m s i e R 8 -

HIHATT ¥ STRATE T A5 HT (90T FaT T21 ThaT T97 A7) TOITesH [0 Freame &1 waw TR 797 9m) 9ET o7 ararest Aot & 9= a1 &t #7 siaw
7| ITETerET [ &1 T T Fa< Tl HAT AT 97 T80T Yaed fFug 39 87 % 2t e feq Fa7 B S e =50E B wae B @ am
I THAT [T AT EATT ST FHTIT 3, T27q 12 3% 19 F¥ Fa< Tl (3T T47 27|

Q-61  The debate weeks started with which topic?

eng
01. Time management 02. Charity
03. Fraud 04. Nepotism
05. Biography

Q-61  ae-faars qaTe e o & | = gam?

hi
01. H¥T Fag 02. IR
03. rETast 04. Forfesy
05. Sfra=T

Solution for Question 61
eng Thursday 12 Fraud

Friday 13



Saturday
Sunday
Monday

Tuesday

14 Time management
15  Charity

16

17 Nepotism

Wednesday 18 Hypertension
Thursday 19

hi AR 12 draEmt

Biography

{ﬁﬁ'ﬂ' 13
affar 14 wHT wEue
TaaR 15
gHa 16
AR 17 AdfRew
gﬂzﬁ 18 I @O99
TEAR 19 Shast
Q-62 Time management topic was covered on which day?
eng
01. Tuesday 02. Thursday
03. Saturday 04. Sunday
05. Wednesday
Q-62  FHF vaEA fowy e o e S i =m?
hi
01. e 02. ™
03. oA 04. TEEm™
05. qeamr
Solution for Question 62
eng Thursday 12 Fraud
Friday 13

Saturday 14 Time management

Sunday 15 Charity
Monday 16
Tuesday 17 Nepotism

Wednesday 18 Hypertension

Thursday 19 Biography
hi TEAR 12 @
YFa 13
afEaR 14 §FT gEua
faar 15 dR&
gFaR 16
AR 17 aofesw
3‘513!1' 18 3=9 T&Fa99
TeAR 19 St
Q-63 What should come at place of question mark (?) in place of question mark in the following questions?

eng
(4809 + 9615 + 14425)+5+6.2 = (?)



01. 5792 02. 5767
03. 5772 04. 5776

05. 5774
Q-63 fAwffag wai & wo e & e 9T vy (™red F w479 7T FqT AT A1 w??

(4809 + 9615 + 14425)+5+6.2 = (?)

01. 5792 02. 5767
03. 5772 04. 5776
05. 5774

Solution for Question 63
eng 7=5776
hi 7=5776

Q-64  How many topics are there between Charity and Biography topics?

eng
01. Two 02. Three
03. None 04. One
05. Four

Q-64 = AT STaeT vt & @i = e fwr g2

hi
01. =¥ 02. &7
03. T L 04. TF
05. 9T

Solution for Question 64

eng Thursday 12 Fraud
Friday 13
Satrday 14 Time management
Sunday 15 Charity
Monday 16
Tuesday 17 Nepotism
Wednesday 18 Hyperension
Thursday 19 Biography

hi TEAR 12 drEms
QWR 13
AR 14 wHT geus
AR 15 49Rd
@HaR 16
FeER 17 AdfesA
gﬂ?ﬂ' 18 3©9 a9

TFAR 19  Shast

=

Q-65 What should come at place of question mark (?) in place of question mark in the following questions?

eng 5
183-542-12x14=7

01. 2748 02. 2568
03. 2418 04. 2958

05. None of these
Q-65  fRwferf wit & wr foreet 3 warme w2 wor e 3 w2 9% T gt AR
hi

183-54%2-12x14=7



01. 2748 02. 2568

03. 2418 04. 2958
05. =% & g T

Solution for Question 65

eng 5832-2916-168=2748

hi 5832-2916-168=2748

Q-66 What should come at place of question mark (?) in place of question mark in the following questions?

eng

fapd 40949

8 56

01. 8.18 02. 6.32

03. 10.45 04. 598

05. 2.42
Q-66 frufafaa wgl & v forea & eara vTaw FRrea F sqra v FAT AT ATIRY?
hi -

S§+9%—3%—?=6%

01. 818 02. 6.32

03. 10.45 04. 598

05. 2.42

Solution for Question 66

3 5 7
eng g0 g
7 4 36
g 25 00
7=(8+9-3-6)+ i+i—i—£:
7 4 8 56)
F"=8+E
56
7=8.18
hi 3 5 2
s§+9i3 ’:6_—9
36
S cn o
?7=(8+9-3-6)+ i+i—3—£:
: 7 4 8 56)
?=8+£
36
7-8.18

Q-67 Four of the following five are alike in a certain way and hence form a group. Which one of the following does not belong to the group?
eng

01. Charity - Fraud 02. Nepotism - Biography
03. Hypertension — Charity 04. Time management — Hypertension

05. Nepotism - Time management

Q-67 fRwforfea ot= § & =2 v [iHT a0 & UF I 2 T Zqe0 UF a9 a97d g Mufead § ¥ FA-97 948 § §69q Tal 87

01. =R - ararast 02. ForfesH - Sfaet
03. I THATT - T 04. THT JEYT - 37 THATT
05. OTfesH - q9F TaeT

Solution for Question 67

eng Thursday 12 Fraud
Friday 13
Saturday 14 Time management

Sunday 15 Charity

Mardsaw 1R



e ———
Tuesday 17 Nepotism
Wednesday 18 Hypertension
Thursday 19 Biography

hi TEAR 12 draEms
LIETILY 13
ufaR 14 @AT yEue
R 15 9Rd
gFaR 16
FeE 17 Adfeew
gﬂﬁﬂ' 18 3= @O99

TFAR 19  shas

Q-68 How many days are there between the topics Time management and Hypertension?

eng
01. Four 02. Three
03. Two 04. One
0S. Five

Q-68  HHT TSR T IF THATT [ATAT F A1 e (o &2

hi
01. =% 02. fiw
03. =1 04. TH
05. gf=

Solution for Question 68

eng Thursday 12 Fraud
Friday 13
Saturday 14 Time management
Sunday 15 Chariy
Monday 16
Tuesday 17 Nepotism
Wednesday 18 Hypertension
Thursday 19 Biography

hi TR 12 et
AR 13
affaR 14 wHT gaua
A 15 9Rd
dea 16
AR 17 A9Rew
3‘513!1' 18 3©9 A99
TRER 19 Sheeh

Q-69 What should come at place of question mark (?) in place of question mark in the following questions?

eng o L )
25 B x =8

01. 2.7 02. 25
03. 37 04. 32

05. None of these



Q-69 e wit & wir foreet 3 warme e wor e 3 ¥ 9% T g At

hi . . . )
P d % hod b et
01. 2.7 02. 25
03. 37 04. 32
05. =i & FrE AR
Solution for Question 69
eng 29764 8 o g® =F
202596% 23804 _ 9
02+6+39+04=3x"?
.?210.5
3
=335
hi 222X64X815X4;2:8f
2::X2f><23;x2;—'=23_
024+46+394+04=3x7
,?210.5
3
=33

Q-70 What should come at place of question mark (?) in place of question mark in the following questions?

en
& 133.33% of 699 + 125% of ? = 1244.5

01. 225 02. 250
03. 275 04. 325

05. None of these
Q-70 fwfafag wart & war firea ¥ eara v wsy e ¥ sam g s AT ariyw?

133.33% of 699 + 125% of ? = 1244.5

01. 225 02. 250
03. 275 04. 325
05. =% F FIS TEII

Solution for Question 70

eng 932+1.25%7=1244.5
7=250

hi 932+1.25%7=1244.5
7=250

Passage for Question 71, 73, 75, 76, 79 (ST-18RRBCLERKPRE(36-40R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

A certain number of people sitting in a row and all of them are facing the North. There are three people between G and K. Only six people sit to the left of G. D is
second to the right of K. There are five people sit between M and F. F is not to the left of G and is not to the right of D who is to the immediate left of M.

hi Passage

rafafad STasTd F 1 sa\ga T AsqIT HL AT Frw g w30t F IATRN

U AT Sear § 07 U Uin ° 9 g T F g9t I A7 A7 Hg R0 gU E1 G 3T K F = 19 AT 8| #ad 88 @R G & ard 9 21 D, K % a3 § g7
TIT 9T g1 M #TT F % &1 919 07 9% 81 F, G 3 a7 ¥ D % 70 81 § ST M % qEd 70 A7 gl

Q-71  How many people sit between F and K?
eng



Q-71
hi

01. Two 02. Three

03. Four 04. One
05. None

F 3T K 3 == fohaw ST &% 292

01. v 02. =
03. 91 04. us
05. =< gl

Solution for Question 71

eng

hi

Q-72

eng

Q-72
hi

What should come at place of question mark (?) in place of question mark in the following questions?

2 of393+ L of 473 =2 x (1.99 + 1.01)

13 12

01. 127 02. 137
03. 157 04. 177
05. 147

Aaferfag v & wy Rrea & sara g wy frea F samwm o FATEATAIRW

1

393 FT L+ 4737 =2 % (1.99 + 1.01)

15 12
01. 127 02. 137
03. 157 04. 177
05. 147

Solution for Question 72

eng

Q-73

eng

Q-73

?7x(1.99+1.01)

2x3= " x393+ | x 480
i ]

LA

da

2 %390+ | x 480
15 12

?7x3=

?%x3=104+280

9= 384 _ 108127

3

?7x(1.99+1.01)

9x3= " x393+ | x 480
i ]

LA

9x3= " x390+ | x 480
15 12

?x3=104+280

9= 384 _10g—127
7

How many people sit to the left of M?

01. 15 02. 13
03. 11 04. 16
05. 10

M F aTd fohae & 9% 22



01. 15 02. 13
03. 11 04. 16
05. 10

Solution for Question 73

eng

hi

Q-74 What should come at place of question mark (?) in place of question mark in the following questions?

eng

i_ﬁxﬂg_i_::ﬂ

42 63 775

01. 32 02. 28
03. 40 04. 45
05. 42

Q-74 fAwfafaa wat & g foea F sara 9wy e ¥ eama gt QAT AR
hi

i—ﬁx}jg—i—lzq

42 63 F

01. 32 02. 28
03. 40 04. 45
05. 42

Solution for Question 74

eng

Q-75 If P is second to the left of G and there are two people sit between P and H then how many people to the left of H?

eng

01. None 02. One
03. Three 04. Two
05. Four

Q-75 AP, G a0 gAY ¥IF 9T & TAT P 3T H & 1o § I ART 9% &, 1 H % a4 & fohasy anr g2
hi

01. FrE 75 02. w=
03. fiT 04. =
05. 91T

Solution for Question 75

eng



Q-76

eng

Q-76

If O is third to the left of K then what is the position of O with respect of M?

01. Sixth to the left 02. Sixth to the right
03. Seventh to the right 04. Seventh to the left

05. None of these
FfX 0, K3 a0 e g af M & #e9 & O Y Rafa g2

01. aTd =T BT 02. =TT AT F3T
03. =TT AT JTaat 04. 7T AT FTAAT
05. =% H IS Tl

Solution for Question 76

eng

hi

Q-77

eng

Q-77

What should come at place of question mark (?) in place of question mark in the following questions?

48x24— 125% of 485=?

01. 525.25 02. 545.75
03. 575.25 04. 625.50

05. None of these
ey vt & wor e ¥ erra vy Rrea ¥ e vrFar AT AR

48%24—125% of 485 =?

01. 52525 02. 545.75
03. 57525 04. 625.50
05. =8 T FE T=0

Solution for Question 77

eng

Q-78

eng

Q-78

7=1152-606.25

7=545.75

7=1152-606.25
7=545.75

What should come at place of question mark (?) in place of question mark in the following questions?

782-452=9% of 400

01. 1074.25 02. 1025.25
03. 1038.75 04. 1060.75

05. None of these
Frerferfera weat & wor fore & © o= W 2 & #2099 T gt Arfgu?

782-452=9% of 400

01. 1074.25 02. 1025.25
03. 1038.75 04. 1060.75
05. =% F FE A0

Solution for Question 78

eng

hi

7x4=4059
7=1014.75

?x4=4059
7=1014.75



Q-79

eng

Q-79

If W is at the left end then who sits immediate right of W?

01. G 02. K
03. M 04. D

0S. Data inadequate
TfT W aTS 7 92 &, 1 W F T aT0 F1 937 872

0. G 02. K
03. M 04. D
05. TT iy

Solution for Question 79

eng

hi

Q-80

eng

What should come at place of question mark (?) in place of question mark in the following questions?

125%64 — 75%=2

01. 2225 02. 2415
03. 2375 04. 2185

05. None of these
Frerferfera weit & wor e 3 o o o e 3w 9 o g |

125%64 — 75%=7

01. 2225 02. 2415
03. 2375 04. 2185
05. =% T FIS TGl

Solution for Question 80

eng

hi

8000-5625=?
7=2375

8000-5625=?
7=2375



